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Question #277 
Key: A 
 
The maximum likelihood estimate is ˆ 1000x� � � .  The quantity to be estimated is 

( ) exp( 1500 / )S � �� �  and 2( ) 1500 exp( 1500 / )S � � ��� � � .  For the delta method, 
2

2 2 2

ˆ ˆ ˆ[ ( )] [ ( )] ( )
[1500(1000) exp( 1500 /1000)] (1000 / 6)
0.01867.
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This is based on 2ˆ( ) ( ) ( ) / /Var Var X Var X n n� �� � � . 
 
 
Question #278 
Key: A 
 
Based on the information given 
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Then, 
0.21(200 ) 36 0.4
0.51(200 ) 36 0.6
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and these linear equations can be solved for x = 119.37. 
 
 
Question #279 
Key: B 
 
Pays 80% of loss over 20, with cap of payment at 60, hence cap of loss of  
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E(Y per payment) = � 	
� 	

 per loss 37.35 38.91
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